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Pensieve header: A demo of the basic SCM\infty$ Lego blocks.
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Plot[B;[x], {X, -2, 2}]

(Alt) Out[ - ]=

-2 -1

http://drorbn.net/AcademicPensieve/Classes/2122-257-AnalysisIl/#MathematicaNotebooks



Dror Bar-Natan: Academic Pensieve: Classes: 2122-257-AnalysisII: SmoothLego-211130.nb 2021-11-30 15:12:07

ainf-1= Bg ,e [Z_] 1= B2 [NOI‘m[Z -al 2]

P1°t3D[Be,1[{xJ yil, {x, -2, 2}, {y, -2, 2},
PlotPoints -» 100, PlotRange » All, Exclusions - None]
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Plot3D[f[x, y], {x, -0.1, 1}, {y, -0.1, 1},
PlotPoints -» 100, PlotRange » All, Exclusions - None]

ainf-1= FI[X_, y_1 = I'F[X2 <y< 3X3,
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